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From six hours and onwards — TeYn® NYw lwwn

OVERVIEW

The X3 stated that we cannot be ynn Hvan during the sixth hour, for since it is
73277 70K it is considered 12w 1°R. The X3 proves this from the statement of 29
21 97°3 who maintains that if one is W7Pn a woman even with D177 *v°7 on 2w
ToYn? MYY wwn nod, it is not a valid PwrTp.” There is a dispute between *"wA and
moon regarding the meaning of 75y MYw wwn.

*

— WY NYNNN *090PN ws
“''w9 explained that when 121 97°) 27 stated 21 75V Myw wwn wipna this means
from the beginning of the sixth hour* (when the yr 110°x is only 112772).”

mooin disagrees with >"wA:
— 90N NYYNDY MYY 1M NN 959 9Nt NN 1193 HYT 01 1299 N9 XD

And the n''9 disagrees with >"w7°9, for we must certainly maintain that when

the X713 previously stated that y»n is forbidden from six hours and onwards -

—"wv 901 1991
That meant at the conclusion of six hours. The X3 there is discussing when the M0X
vnn begins 7MN7 . It is obvious that the ynm 7oK begins after mxn (after six hours have
passed). The same expression (771 myw wwn) is used here as is used there. We must therefore
assume that also here by 27 27 the expression 719121 Myw wwn means after six hours.

mooIn offers his explanation:
— 9IRP YV 91917 0N 1229 ¥

And the n''1 explained that indeed 7°3 27 meant from the end of the sixth hour.

mooIN anticipates the following question. The X3 here is attempting to prove from 73 27 that
even W nonna (when there is only an 13127772 MO°R) v1 is already not 1mwa2. However according

"The marginal note indicates that this 1500 is referencing the X3 (of 191 97°3 27) on R,7 7.

> He gave her nothing of value since the yn11 is (112771) X372 T0OK.

S wwn "7 R,T AT,

* Let us assume a twelve hour day which begins at six am and ends at six pm. The hour between 6 and 7 am is the
first hour, 7-8 the 2" hour, 8-9 the 3d hour, 9-10 4™ hr., 10-11 5" hr., and 11-12 is the 6™ hour.

> According to *"wA the proof from 773 21 is very straightforward. There is no 1"w17°p even if he was w7pn her nonn»
ww, when 721 is 70X only 712777.

69,7 q7. See (71X7) &"win, that MdOIN is referring to that X713 and not to the X713 here on 2,1.

7 This is true whether we derive it from por X or yr ¥ vrwn K, etc. P is XN™XTA MoK only after nixm.
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to mM»doN, the case of 7% 27 is after ww, when it is XX MOKX; how can we prove from 29
573, that even by 112777 yan MO°K it is not 1MWA2.
mooIn responds:

- 87!\’)‘,71) NN DI PYP IV RNNITNP 20NN 1IN N1

And the X723 brings proof that 132777 ynn is YW 11°R from the case of ‘Nn17p

wheat’, which is hard, and is considered wpi ynan -
b b
£193979 “NON ) 9ION 1INV

Which is also only 33397% 99K and nevertheless the woman is not nwmpn, for it is
considered 15w X, This proves that y»n which is Mo only 112777 is considered ¥ow .

SUMMARY

According to *"wM, the meaning of 7%¥n?1 Myw wwn is from the beginning of the
sixth hour; however according to mMdoIn it means after the end of the sixth hour.
The proof from 77°3 21 according to MdOIN is from 13277 Y17 to 13277 Myw.

THINKING IT OVER
What do "1 and m»d0In maintain concerning 1277 MYW31 131277 y1n?

8 w1 yan is ynn which is not fit to be eaten. See the X na later on X,3» where the 0°121 maintain there is no M0°X
Xn»xTn for Awpi yan. See the w"X171 Maoin for an alternate explanation (that 7w yxn is only 710X on 1od itself,
but not on 1105 27Y).

® According to mooIn the expression 'KN»I7PT *wna 120X', is more readily understood.

10'We derive (that) 11277 nwwa XN IRT va7 (is not 19w) from XA™IRT MYW3 11277 7oA.
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